BT TRIA O - HEHHEE X T 3;5219&12)% KIRHE
- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 38,830 86,810 41,358 45,452
RIRET1T 6 15 9 6
RIRET2T 29 57 28 29
AIEET3T 178 589 291 208
RIRET4T 412 1,003 497 506
B 625 1,664 825 839
REH 2,659 6,174 2,879 3,295
L&A 4219 9,472 4,449 5,023
BE 2,564 5,981 2,912 3,069
B AN 1,264 2,859 1,326 1,533
BERT 1,311 1,984 942 1,042
BER2T 711 1,353 656 697
BHERST 385 861 414 447
g 2,407 4,198 2,012 2,186
BARE 278 676 347 329
= 2,201 5215 2,470 2,745
hERE 623 1,442 654 788
e 2,448 5,257 2,533 2,724
25 L ET 2,298 5,139 2,443 2,696
B &AL BT 76 161 66 95
HEFILET1T 562 1,206 566 640
HEFILET2T 615 1,357 643 714
HEZFILAT3T 616 1,441 707 734
g 1,869 4,165 1,982 2,183
B & it B Fr ET 682 1,623 783 840
BHEREBET1T 602 1,243 595 648
BHERERET2T 763 1,745 842 903
BHERERETST 785 1,692 772 920
HERERET4T 460 965 465 500
HEHFMHETST 816 1,695 801 894
HEHFHET6T 886 1,976 956 1,020
HEFRET7T 869 1,895 920 975
HERERETST 70 224 105 119
£t| 5251 11435 5,456 5,979
HEF R FET 1,864 3,953 1,918 2,035
S|EFET1T 577 1,553 777 776
S|EFET2T 762 1,807 856 951
S|EFET3 T 718 1,417 647 770
g 2,057 4777 2,280 2,497
ERE1T 572 1,358 650 708
EIRET2T 388 1,045 526 519
EREIST 480 1,312 644 668
EIRETAT 693 1,511 677 834
EIZEIST 493 1,011 513 498
g 2,626 6,237 3,010 3,227
MEH 2,784 6,318 2,981 3,337
J\THET1T 33 36 12 24
J\THET2T 28 73 35 38
J\THEI3T 50 116 51 65
B 111 225 98 127
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